

Végezd el helyes sorrendben a műveleteket! Ne felejts el egyszerűsíteni! Az eredményt pl. $-3/4$ alakban írd be!

$$\frac{5}{6} \div \frac{1}{6} + \left(-\frac{8}{9}\right) =$$

$$\left(-\frac{8}{9}\right) \div \left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\frac{2}{9} \times \frac{1}{5} - \left(-\frac{4}{5}\right) =$$

$$\frac{2}{9} - \left(-\frac{1}{2}\right) \div \frac{1}{9} =$$

$$\left(-\frac{5}{9}\right) \times \left(\frac{2}{5} - \left(-\frac{3}{8}\right)\right) =$$

$$\left(\frac{1}{6} - \left(-\frac{8}{9}\right)\right) \div \frac{3}{4} =$$

$$\left(\left(-\frac{8}{9}\right) - \frac{8}{9}\right) \times \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 \div \left(-\frac{1}{9}\right) =$$

$$\frac{1}{9} \div \left(-\frac{1}{8}\right)^2 =$$

$$\frac{3}{5} - \frac{2}{3} \div \left(-\frac{1}{9}\right) =$$

$$\left(-\frac{5}{9}\right) \times \left(\frac{2}{5} - \frac{1}{2}\right) =$$

$$\left(-\frac{3}{8}\right) + \frac{5}{6} \times \frac{7}{8} =$$